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L. 2 mwn: bathing child and caring for 51’ on naw
a.  Bathing: we bathe the child before and after n%n and throw hot water on him, but only by hand, not with a '
b. py7anT. allusion to washing child on 3 day if it is on naw - v. 1
i. Challenge: ®w1 says that we bathe him, then it “backtracks” and only allows by hand
1. Answerl (max 72 7377 77777 27): opening line is general, next line is detail — only may bathe 12
a. Challenge (¥37): 1t clause states pxman
2. Answer2 (837): 1* clause is for day of n9n; next clause is for 3" day (only 7°1) to which y”ar1 disagrees
a. Supporting 87772 we wash him before and after n%n in normal fashion; on 3" day — 12

i. y7axnT. disagrees and cites v. 1 as allusion to special status of 3'¢ day
1. Only allusion (not proof): adult’s skin doesn’t heal as quickly (v. 1 is re: adults)
ii. Note: when they throw the hot water, use a hand, not a »53 (per 1127)

3. Story: ®a1 ruled like his own approach, then felt regret — noting that n1wn supports N> 11
a.  Support: since ”ar1 says “P¥nan” > omon don’t allow p¥nan even on 1+t day (else - "pxmn qr”)
ii. Ruling (»p77 "1in the name of 179 13 7rv58 77): we rule like p”ara
iii. Question (asked in »K): is the “washing” here his whole body or only n>n Dipn?
1. Answer (13797 ’7): reasonably — his whole body; if only n%n oypn, why would that be different from 27’s
ruling that we allow hot water and oil on a wound on naw
a.  Challenge (907 "7): wouldn’t we distinguish between water heated on naw and that heated before?
b.  Block (077 *7): who's to say that the water here was heated on naw?
i. Defense (9o 37, ahead of »ax): this water may be heated on naw, as he is in danger
2. Report from »4: 131 1 - we rule like y”ar, if heated on naw or vy, to wash whole body or just n9'n mpn
a.  Reason: he is in danger
iv. Reexamining 37's ruling about hot water: permitting hot water and oil to be put directly on wound
1. SKpw. permitted to put it near the wound and it drips in
a. Challenge: we may not put hot water onto cotton to put on wound

i. Answer: that is due to the concern of nonv (squeezing out)
b.  Challenge: we may not put hot water or oil on T on wound
i. Answer: that is also due to a concern about no’no
C.  Np»7x supports YRINY — we may not put hot water or oil directly onto wound
i. But: we may put hot water or oil near wound and let it drip in
d. am77x we may put dry rags or sponge on wound, but not reeds or rags (pn’na
i. Contradicdtion: about Tm/pnma
ii. Resolution: new ones are MoR (effective); old ones are 1mn (not very effective)

1. »an infer from here that pnon3 (rags) can be helpful in treating a wound
c.  own1mNy poo. we do not violate naw for their n9m
i Am7 /1. we do violate naw for n%n of an LVIPIITIR

1. Analysis: mYp (v. 2) - only certain n57; not pav and androgynous

a. oo means possible 7' month (nawa %1n7) possible 8" month (n¥pn on naw — considered dead)
i. However: in case of 8" month baby, mother may lean over and nurse him

2. i “r androgynos is circumcised on naw and failure to do n»n >n7

a.  Rather: %y excludes one born mwnwn 17a (of naw) and one who is born %1n
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i Note: this is a dispute n”2/v”1; "1 taking position that %11n 791 requires n"12 07 Navn
~72v7. they didn’t disagree about this; rather about a 73 who converts but already had n%n
1. 37 na5n follows pn (=2if born 5NN, no requirement of 171 07T NavVN, per n"1)

2. 5xmmw: navn follows R”awn (dispute is about )nn 93 2if born %100, must have n1a o7 navn)

d. Story: X"ar1 had baby born nn and his 8™ day was naw
i. He: took him to 13 m9mn who refused to circumcise him
ii. So: he did it himself and ended up making him n2aw nm1>
1. Reflection: he felt that he deserved it; as he violated 17's dictum
a. 77 he also violated YR1nw; he only obligated o7 navn on 5N, not naw
b.  Explanation: R”aR1 thought that it was ("w113) n%Y '®M & YR1NWY would require 7"n
i Per: dispute q01 29/n21 if someone born %00 certainly has nwiad N5y
1. 727 it may be nw1ad nH1Y (>we do not circumcise on nNaw)
2. 9oy 27 it is certainly nw12d N5 (>we do perform 72 07 NAVN on NaAWY)
a. Argument (901 37): from Rn»11 —99pn R™ argues that n”11 w”a didn’t disagree that a
baby born %1nn requires n1a 07 navn
b.  Rather: they disagreed about whether we violate naw for that 7"n (v”"a — violate naw)
i. Implication: p"n (of 19pn ®™) holds that we do violate naw (¥™39)
ii. Rejection: perhaps p"n holds that all agree that we do not violate naw for 1"n
iii. And:19pn " argues that n”21 v"1 agreed that we do violate naw for 1"n
II. >or "Y's equation: if the mother is NY XNV, the baby is NNMWY 51971 (on Naw); if not — delayed until after naw (vv. 2-3)
a.  Challenge (7aN): before nn 1nn, there was no N9 NrRMY, yet there was n%n at 8 days
i. Answer ('8 77): once the nmin was given, the Halakhic innovation was given (per his equation)
b.  Challenge: in case of a c-section or someone born with 2 m57y, dispute 29 92 ®»n/&nn " if 10 is done on Naw
i. Observation: they only disagree about doing it on naw, but would agree that it is (otherwise) done on »nw
ii. Defense: one is dependent on the other (if done on 8t day, it would be done on naw)
c.  Note: this is subject to dispute of 0’Xin, as per kn»12
Background: in v n»wx11, both n»a 1% (born into house) and qoa mpn (purchased slave) require n»n
1. 902 mpp: could be 5m1 on 1+ day or on 8t day
a. If: he bought a nnaw who was pregnant — this is 903 nipn done on 8t
b.  But if: he bought her with her newborn baby - this is Qo3 mpn done on 1¢ day
2. 175 could be %17 on 1% day or on 8" day
a. If: he bought a nnaw and she became pregnant in his domain — this is n’a 7% done on 8" day
b.  xpn 7. if she gave birth and then he was %7200 her — done on 1% day; if »avn first — 8t day
7’ doesn’t distinguish — all done on 8 day, even though mother has no n1% nxno
1. 437 8nn "7 has both 1¢t and 8t day for n»a 7%; but p”n doesn’t have 1t day n>n for n»a 7%
2. Answer (7207 “): if he bought a nnaw for her 12w (considered n»a 1%, but done on 1 day)
a.  Challenge: this is only valid if we hold »n7 qun pap Y mva pap
b. But: if we hold a”p::a"np — what case can we construct?
i. Explanation: if 9”p::3"np, she is fully owned by him and is done on 8% day
c.  Answer (Nw7wp 77): in a case where he buys nnaw on condition that he will not be 9avn

ii.

i.

i.
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